www.Padasalai.Net - No.1 Educational Website in Tamilnadu

COMMON PUBLIC EXAMINATION ~-MARCH -2023

XII - MATHEMATICS TENTATIVE ANSWER KEY
PART -1
Q.No CODE - A CODE - B MARKS
L [®p@)=n (@) 5 :
1 1
2. |@1 (b) xe [,1]
3. 1 (a) 3 1
(b) xe [2 , 1]
4. | (@ y=kx @) g 1
5 (a) 3 (b) z 1
6. ©) 0 (b) log 2 1
7. (b) 2 (d) 2 1
8 (d) 2 @ 1 1
T =T 1
> @z () —
10. [z (d)-4 1
11 8 (d)n 1
(a) 3
12. T ()5 1
(@)
13. ()5 (c)2 1
14. (c)2 (a) y=kx ]
15. | (b)z (b) 2ab 1
16. (d)-4 (a) Z 1
2
17. | (b)log?2 (b) p(A) =n 1
18. |(d)n (b) 2 1
19. (a) __62 (d) z 1
20. | (b)2ab (c)0 1
PART - II
21. Let |z;|=]z| = 2 and |z,]|=|3 + 4i| =5
We know that||z1| — |22]| < |z1 + 22| < |z1]+]22]
|2—-5|<|z+3+4i|<2+5
3<|z4+3+4i]<7 2
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22, I +nx+n = 0= p+q= % and pq = ?

',— _n E _ 1
P o, m_ W wm_
\ﬂ+x'ﬂ+\“_ Y 1
SUN
23. Condition for line tangent to the circle is ¢’ =a’ (1+m")
=9 (17)
c = i3 N‘llﬁ 2
24. Given: r =10cm and dr =9.9-10=-0.1
volume of a sphere V= %nr3
dv= §n3r2dr .
= -40mcm’ 1
25. w 1 - — |x EEA
fb a?+x? dl o [a tan (a)]b 1
=2 fran~ (o) — tan~ ()

=zt (¢ . 1

26. | Givenp=7and d =3i—4j + 5k

d_| a ___<3a 47 + 5k)
The vector equation of the plane is 7. d = P
._j_(31—4j +5k)=7 2
21. iv B:[10 11 and 1
M=ly g | |
S PPV B I

cos® —sin0][cos® sinO]_[1 0]
AAT:[sin O cosO [—sin 0 cos 6]:[0 1J:IZ 1
similarly ATA=I,
~AA=ATA=L ’
.. A is orthogonal
29. y=x" +3x -2
Zisz 43 at(12) >m=5
Equation of the tangent: 5x-y-3=0

30. eCos O+isin® — 4cos eeisin S]

= e 9[cos(sinB) + isin(sinO)] (or) 9
= e%59¢0s(sinB) + i e Fsin(sinO)

ﬁ
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PART - III

31.

The equation of parabola is (x+1)* = 4a (y+2)
It passes (3,6) = a= %
(x+1)*=2(y+2) (or) x*+2x2y-3=0

32.

The maximum distance = a+ae=152 x 10%------- (1)
The minimum distance = a-ae= 94.5 x 10°------- (2)
()-Q) 2ae = (152-94.5) x 10°
=57.5x 10°
=575x 10°
The distance from the Sun to the other focus = 575 x 10°

33.

The Domain is -1<3x — 1<0
O<3x<1
0< %< (or) x £0.2)

34.

b=2t42] -k and [b]=yE+E+T1 =0 =3
The direction cosines of the straight line are § , g, :3}

2 2 -1
cos @ =7, cosfi = gand COS y=—

3

¢ =cos’ G) fi=cos G) and ,y = cos 1(_?1)

35.

Let f(x) ={x )z, xg=125 and Ax = -2
7 1 2

f'lir)y=-xz= =f'(x) =—=

: axz

L(x) = f(x0)+zf "(x0)(x - xo)
L(x) =(125)2—— (x - 125)

L By
2rl2aja

(123)z =24.73

36.

1
— X 2
=e (logx + x) dx
Integrating weget,
siny = ¢"logx+c

37.

[F(a)|=1

[cosa 0 —sina]
adj[F(a)]:I 0o 1 0 I
|sina 0 cosa |

[cosa O —sina ]

[F(a)]”:i o 1 0 I:[F(—cx)]

Lsina 0 cosa_'
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38. P|q |p>a | 9P
T|T T T
T|F | F T 2
F|T T F
F |F T T
Last two columns are not equal |
pP—=>4gFq—>p
39. 7. = (2+31)(1-1) =5+
ylol_ 1 _10-24i
o s 52 2
-1 _i_l_.
‘%% 26 ' 1
40. a+b+c=0 and b+c=-a,c+a=-b,a+b=-c
bt+ec—axi+ic+e—bx+ia+tb—ci=0
(—2alx?+{-2bxix +{-2c)=10
ax’+bx+ec=10
A=blmdar=ic—a@?>=0 5
The roots are rational 1
PART -1V
1
@ | 218i=0 = 2 =[23 (=5
1
_ T\ |3 1
=2 cos(2)+Lsm<2 )]
1
_ 3 1
= 2_cos (Zle' - 5) + isin (an - E)]
= 2_cos(4k - 1)% + isin(4k — 1) %]5
2= 2[cos(4k — 1)+ isin(4k — 1) %] k=0,1,2 1
Putk=0,12= z=+/3-i,2i, —/3- 2
. The values of z are V3-i, 2i and —V/3-i
Note: Any other method
41.(0) | (1 + x +xy2) D~ _(y+y3)
@ _I_ E * — l
dy vy yii+y®) 1
ILF=w% 1
.. The general solution is
x(LF)=J Q{I.F)dy + ¢
1
=l Sy A e
XV =-tan— y‘l‘C 2

Kindly send me your questions and answerkeys to us : Padasalai.Net@gmail.com



https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net - No.1 Educational Website in Tamilnadu

42.(a) | Diagram 1
04 = cos ai+sin af ; OB = cos Bj+sin ] l 1
m.ﬁ:cosacos8+sina3in8).. (1)

By definition
5/_1).0_3):|E4)||ﬁ’)|cos(a—[3):cos(a—8)...(1) — A — 1
From (1) and (2) " -
cos (@ — ) =cos a cos B+ sin a sin 3 ' 1
42.(b) [k = E 1
( {J For x = 200
nFX)=+—-= for 200 = x = 600 3
lfor x = 600
iii) P{300 « x < 500) = = 1
43.(a) | 18x° +12y"— 144x +48y+120 =0
2 2 2 2
ot ] |
a’=18=a=3V2;b*=12=b= 2\/‘
(ae) —a’-b’=ae=+v6ande = \/_ == 346
Center : (4,-2) , Vertex : A(4,3vV2 -2), Al(4,-3V2 -2) 2
Focus :S(4,V6-2), S'(4,-V6-2) 1
Equation of diectrices Y = i% =y=-2+3V6 .

43.(b) |cos™ x4+ cosT'y+coslz=n
a+B+costz=n=0+p=n—cos !z o (1) 1
cos( a + B) = cosa cosf3+ sinasinf
cos (m— cos ™! z) = xy-V1 — x2,/1 — y2
-cos(cos ™! z)=xy-V1 — x%,/1 — y?
z+ Xy =V1 — x2,/1 — y2 5
Squaring on bothsides, we get,

(z+xy)’=(1 = x*)(1 - y?)
22+><2y2+2xyz:1-y2—Xz+xzy2 2
X2+y2+zz+2xyz =,
44.(a) | 36a-6b+c=8 ------ (1), 4a-2b+c=-12 ----- (2), 9a+3b-+c=8 ------m--- (3)
36 —6 1| 8 4 =2 1]1-12 1
[A|B]= -2 1[-12 ~[36 —6 1| 8 |R, &R,
9 3 11 8 9 3 11 8
12 2
~lo 12 -—g|116|R3 - 12R; — R,
0 0 61760

Soa=1,b=3and ¢ =-10
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y= x+3x-10
60=60
Yes, he meet his friend

44.0) | x+4y* =8 .......... (1)and X2y =4 .......... )
v = Z and x° = 1?

x x
m;=— and mp=—
CarG)e
my X Mp=§ —— Xl — |=
1sy
L3 1
my XmMp="—"—,/~=,~ =-
a(%/3)

So, the given curves cut orthogonally.

45.() |d=t—j+3k;u=21—j+4k;v=1+2j+k
Parametric form
P=@G0—j+3k)+sQi—]+4k)+t(@+ 2]+ k)
Cartesian form
x—1 y+1 z-3

2 -1 4 |=0
1 2 1
9x-2y-5z+4 =0
1
45.(b) Given 3 18 a solution. é 6 -5 -38 -5 6
This is reciprocal equation 0 2 -1 -13 -6
.. 3 1s an other root. 3 6 -3 -39 -18 0
6x2+15x+6=0 is another factor. 0 18 45 18
2x%+5x+2=0 6 15 6 0
x==,x =2 2

2

.. The solutions of the given equation are %, 3, _71 y =2

46.(a) | p—(—qVr) =~ pV(—qVr)

—

(7qVvr) | p—(—qvr) | - pV(—-qVr)

i
Na)

il sl e A et e A e R =
Il N )
el il e R s e R s R e A B
I sl s s
= | |
SRR
el el e s
el el el el i s

Last two columns are identical.
- p—(TqVr) =~ pV(-qVr)
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46.(b) | Let A be amount at time t

dA
= 22 _0.054 = A=Ce"™

dt

When t=0,A=10,000 = C=10,000
When t=1.5 = A=10,000¢"""

47.(a) | = 09"
x
dy 1-logx d dzy_ —342logx
dx  x2 dx? x3
d
Zo0zx=e
dx
d%y -1 .
Ifx=e= Freimie < 0 (It has local maximum)
X e

1
When x=e=y=-

o1
The local max value is: "

47.(b) | Diagram

x2 }’2:1

y- RN

a? b2
CANEP AP [SUNI 2) //f

a b 5 S
Point of intersectionis: \

(0,b) and (a,0)
()=y = S\/a_z—_xz e e

b
(2)=y=(a-x)
b
Required area A= [gv a? —x?——(a— x)] dx

= a—f— (x — 2)sq units.
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